
 
 

If  𝒙, 𝒚, 𝒛 > 𝟎, 𝒙 + 𝒚 + 𝒛 = 𝟏 then: 

√𝒙 + 𝒚𝒛 + √𝒚 + 𝒙𝒛 + √𝒛 + 𝒙𝒚 ≤ 𝟐 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Bui Hong Suc-Vietnam 

𝑳𝑯𝑺 = √𝒙 + 𝒚𝒛 + √𝒚 + 𝒙𝒛 + √𝒛 + 𝒙𝒚 =⏞
𝑿+𝒀+𝒁=𝟏

 

√𝒙(𝒙 + 𝒚 + 𝒛) + 𝒚𝒛 + √𝒚(𝒙 + 𝒚 + 𝒛) + 𝒙𝒛 + √𝒛(𝒙 + 𝒚 + 𝒛) + 𝒙𝒚 

= √𝒙𝟐 + 𝒙𝒚 + 𝒙𝒛 + 𝒚𝒛 + √𝒚𝟐 + 𝒙𝒚 + 𝒙𝒛 + 𝒚𝒛 + √𝒛𝟐 + 𝒙𝒛 + 𝒙𝒚 + 𝒚𝒛 

= √𝒙(𝒙 + 𝒛) + 𝒚(𝒙 + 𝒛) + √𝒙(𝒚 + 𝒛) + 𝒚(𝒚 + 𝒛) + √𝒙(𝒚 + 𝒛) + 𝒛(𝒚 + 𝒛) 

= √(𝒙 + 𝒛)(𝒙 + 𝒚) + √(𝒚 + 𝒛)(𝒙 + 𝒚) + √(𝒚 + 𝒛)(𝒙 + 𝒛) 

=⏞
𝑨𝑴−𝑮𝑴 𝟐𝒙 + 𝒚 + 𝒛

𝟐
+

𝟐𝒚 + 𝒙 + 𝒛

𝟐
+

𝟐𝒛 + 𝒙 + 𝒚

𝟐
= 𝟐(𝒙 + 𝒚 + 𝒛) = 𝟐. 𝟏 = 𝟐 = 𝑹𝑯𝑺 

𝑯𝒆𝒏𝒄𝒆 ∶  √𝒙 + 𝒚𝒛 + √𝒚 + 𝒙𝒛 + √𝒛 + 𝒙𝒚 ≤ 𝟐, =𝒊𝒇𝒇 ∶ 𝒙 = 𝒚 = 𝒛 =
𝟏

𝟑
 

 
Solution 2 by Sakirin Ly-Cambodgia  
 
𝑴𝒆𝒕𝒉𝒐𝒅 𝟏 ∶ 𝒖𝒔𝒊𝒏𝒈 𝑨𝑴 − 𝑮𝑴 

𝒘𝒆 − 𝒈𝒆𝒕 ∶  √
𝟒

𝟗
𝑺 = √

𝟒

𝟗
(𝒙 + 𝒚𝒛) + √

𝟒

𝟗
(𝒚 + 𝒛𝒙) + √

𝟒

𝟗
(𝒛 + 𝒙𝒚) 

𝟐

𝟑
𝑺 ≤

𝟒

𝟗
+ (𝒙 + 𝒚𝒛)

𝟐
+

𝟒

𝟗
+ (𝒚 + 𝒛𝒙)

𝟐
+

𝟒

𝟗
+ (𝒛 + 𝒙𝒚)

𝟐
 

𝟐

𝟑
𝑺 ≤

𝟒

𝟑
+ (𝒙 + 𝒚 + 𝒛) + (𝒙𝒚 + 𝒚𝒛 + 𝒛𝒙)

𝟐
≤

𝟒

𝟑
+ 𝟏 +

(𝒙+𝒚+𝒛)𝟐

𝟑

𝟐
=

𝟓

𝟑
+ 𝟏

𝟐
=

𝟒

𝟑
 

→ 𝑺 ≤
𝟒

𝟑
.
𝟑

𝟐
= 𝟐 → 𝑺 ≤ 𝟐  (𝑬𝒒𝒖𝒂𝒍𝒊𝒕𝒊𝒆𝒔 − 𝒘𝒉𝒆𝒏 ∶ 𝒙 = 𝒚 = 𝒛 =

𝟏

𝟑
) 

𝑴𝒆𝒕𝒉𝒐𝒅𝟐 ∶ 𝒖𝒔𝒊𝒏𝒈 𝑪 − 𝑩 − 𝑺  

𝑺𝟐 = (√𝒙 + 𝒚𝒛 + √𝒚 + 𝒙𝒛 + √𝒛 + 𝒙𝒚)𝟐 ≤ (𝟏 + 𝟏 + 𝟏)(𝒙 + 𝒚 + 𝒛 + 𝒙𝒚 + 𝒚𝒛 + 𝒛𝒙) 

≤ 𝟑 (𝟏 +
(𝒙 + 𝒚 + 𝒛)𝟐

𝟑
) → 𝑺𝟐 ≤ 𝟑.

𝟒

𝟑
= 𝟒 => 𝑺 ≤ 𝟐  

(𝑬𝒒𝒖𝒂𝒍𝒊𝒕𝒊𝒆𝒔 − 𝒘𝒉𝒆𝒏 ∶ 𝒙 = 𝒚 = 𝒛 =
𝟏

𝟑
) 

 
 
 



 
Solution 3 by Samed Ahmedov-Azerbaijan 
 

𝒙 = 𝟏 − (𝒚 + 𝒛) =>  √𝒙 + 𝒚𝒛 = √𝟏 − (𝒚 + 𝒛) + 𝒚𝒛

= √(𝟏 − 𝒚)(𝟏 − 𝒛) ≤⏞
𝑨𝑴−𝑮𝑴 𝟐 − (𝒚 + 𝒛)

𝟐
 

𝒂𝒍𝒔𝒐 √𝒚 + 𝒙𝒛 = √(𝟏 − 𝒙)(𝟏 − 𝒛) ≤
𝟐 − (𝒙 + 𝒛)

𝟐
 

√𝒛 + 𝒙𝒚 = √(𝟏 − 𝒙)(𝟏 − 𝒚) ≤
𝟐 − (𝒙 + 𝒚)

𝟐
 

√𝒙 + 𝒚𝒛 + √𝒚 + 𝒙𝒛 + √𝒛 + 𝒙𝒚 ≤
𝟔 − 𝟐(𝒙 + 𝒚 + 𝒛)

𝟐
=

𝟒

𝟐
= 𝟐 

𝑬𝒒𝒖𝒂𝒍𝒊𝒕𝒊𝒆𝒔 − 𝒘𝒉𝒆𝒏 ∶ 𝒙 = 𝒚 = 𝒛 =
𝟏

𝟑
 


